TRITEE KETFROPE

(BANL:FH)
" [ 57 14
e |IE TR M6 5
T 72 = ¥ % (%3%)5; ol 7 i
T R
551,565 | 1 —frLEhatin 533 {t 1,563,283 M
1 g = m \H ™ 1,563,283 503,600 | 2 A AR RIS (B5) 29 1 42,973 M
15,500 | 3 AKiEHHERFRIG (B - fliE) 2 fF 3,649 T
492,618 564 1 1,609,805 M
1-1 396,865 | 1 HPPHEEZE (WOBHHEE R HPFEE) 3,980 T
. o e 321,600 | 2 EBK - IEHE 200 £ 230,000 -
e OIS E IR s 1,117,480 3 ERK - SEE IR T 60 {1 883,500 T
et 399,015 # 260 14 1,117,480 FM
1-2 70,250 | 1 HEA. #HBhA, JFA B SOR 93 1 10,300 T-H
" e e 67,600 | 2 1&#E 15 4 7,500 T
L A R 204,079 15,500 | 3 $¢EEIRTE 85 1 186,279 T
FEARFR 50,729 7t 193 {4 204,079 T
1-3 7,500 | 1 JEASEL B3R 60 1 5,300 T
. A e s 6,500 | 2 SKEMIH T 7 35,000 T
¥R HE K EHEHEBRE 40,300 e 67 1k 10,300 T
FEARFR 26,300
1-4 1 /NRFERE 5 KiE FEMB 4 2 {4 1,174 TH
. A e s 2 SEEIRFEMBIE OKEFESFD) 3,250 T
K oE fE R % K EHEH OB & 4,424 e o 1,424 T
oKIERR 4,424
1-5 76,950 | 1 EAEJax 2 41,200 TH 4 HEME 144 1,100 T-H4
O o F% K E EOH OB 197,000 107,900 | 2 i 3 19,300 T
TR, HEHES<VRR, T UL ATEEET, AT ’ 3 #tiEHE Rk 51F 135,400 T
B HERRE R, LT ER 12,150 3 11 {197,000 T




R 3 4

123
3 WIE PR | MO =
I 7 = % 4 £ (%3%);} P 7 A
— MR
54,100
# % E4 &7 xf s 181,836
127,736
2-1 54,100 | 1 SEESEFT(12)28 & - E B FRF O 8 S Ol Fo ks 1,200 T
o . s v 2 F’“ T IE S GRREL(3) | il - AL 5y 37,300 FH
e S F - KK B OIS 110,600 3 SKESGHEEMNIEE R 72,100 FH
SRR, AT EREERR 56,500 7t 110,600 T
2-2 1 KERES 406 14 12,575 FH
, ” - 2 WM e Gl B 81 1 54,661 T
# a # = & 1,230 3 KERTLTAT R X —TEE 4 4,000 M
AR, P DGR 71,236 2t 487 i 71,236 T-H
1 KBFRIED vy Z—ERE 500 T-H
2 fiiEA (7 —2U7h) 5,000 T
g %= B A % , ! ,
Koow R AR 2500 2 5,500 T
SRR 5,500
30,000
605,665 | @ [EHE X H 4 527,915 TH @ RZH4: 77,750 TH
. e PN 2t A = 1.780.619 503,600 | @ #HBLSSEEINE M 420,600 TH @ B EE QSRS 83,000 T
= ! " 3 e 15,500 | @ 4yiH4: 15,500 T-F
655,854 | @ HHi4: 434,168 1 @ MBI ELE 160,537 TH
@ mAfRL 61,149 TH
13,673 | 1 AL FAEKERIR GHB) 2 21,000 T
A sl oA = 10,200 | 2 AFNAKEKEEIR (M) 26 19,673 FHM
Bk GE BB R B A 12,973 5 LS 1 i 2,300 11
19,100 &t 29 {4 42,973 T
1 EM”:{I%'%I% 2 3,549 TM
. - - — R F OB A (Bl & FH 4 %H)
AN = AN =
7k ﬁ $ % = # [ 3,549 3,250
299
o = 619,338 | @— k=3l 533 4 1,780,619 TM
ren 1897 141 513,800 | @ F/KERBISF 29 1 42,973 T-M
e 18,750 | @7k LS 2 1 3,549 T-H
675,253 7t 564 1 1,827,141 M




